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CofffiZERR
t=15cmPd 9. 20 8. 00 25. 60 4. 40 0. 00 0. 00 17.20| ot
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4 7 I N - B 4 Z v & Z v & Z v & Z v & pe | Bin¥k i =
BRH-ER|E R |& SR Sm|F SR SmFE SR SMF SR SWFE SIE W K M (1)

HIVP ¢ 40mm 4. 00 3.982 0.02 1

n 4.00 3.728 0. 27 1
n 4.00 3.392 0.322 0.29 2
n 4.00 3.294 0.71 1
n 4.00 3. 000 0.875 0.13 2
n 4.00 2. 399 1.173 0.372 0. 06 3
n 4.00 2. 640 1.36 1
n 4.00 1. 959 0. 300 1.74 2
n 4.00 1. 747 2.25 1
14|10 9 K
kg/m t
B B B 3 6.817[ 0.774 | 0.005
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BHO. 2m3
JZS £ VIt 79. 96 4.82 + 33.08 1.97 119.83| m3
BHO. 2m3
b A VIE A 79. 96 4.82 + 33.08 1.97 119.83| m3
DT 2t
7% AL VIE A 26. 32 2.36  + 21.66 1.38 51.72| m3
DT 2t
R L {REEN 26. 32 1.68 + 11.67 0.85 40.52| m3
R L i+ 53. 64 2.46  + 11.42 0.59 68.11] m3
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¢ 40m/m H=0. 60m
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BHO. 2m3 0.60 X 0.748 X 178.8
JZS £ VI - — (n/4 X 0.045 X 0.045) X 178.8 79.96] m3
BHO. 2m3 0.60 X 0.748 X 178.8
i A VI - — (n/4 X 0.045 X 0.045) X 178.8 79.96] m3
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Jo R i) VE+ 79.96  — 53.64 26.32| m3
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HORE L CREERD { 0.60 X 0.248 —(m/4X 0.045 } X 178.8 26.32 m3
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H=0. 60

B 1+ T.00) ¢ 75 12. 470 = 12. 470 12.5] m




¥ & 2 B F (Q

LTHEA4 AR OB ARG K EETH T (R
4 R Mo B gt B =X B & | BT
HPPEAS M O¥% T
FEE+ETE®
t=3cm
ELEIE L g X 4 0.80 X 5.00 = 4. 00 4.0] m2
t=10cm
ELEIE L avy)-} 0.80 X 5.00 = 4. 00 4.0] m2
4t DT
Co #RiEMRALEE [ L=5. OkmPAN 4.000 X 0.13 = 0.52 0.5/ m3
t=5cm
SEEIET FRY AE GRA) 0.80 X 5.00 = 4. 00 4.0] m2
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i = HPPE-JW 1 1] f#
EF 675 EEIE(2) LV
V7 b HPPE-JW 1 1| &
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EEIE(2) LV

PVY afvh $ 75 1 1| 1A
BB M kEAmEREEREY ) E ' M K B

fEEIF ¢ 50 hEBMEE
I (R 4£) MSN-SLU1 1 1] &
2 (=35) 15[ MSN-K - SLUL 1 ]
7" 9AFy G IMSNAKGE A OTK 1 1| 1®

JERR
URM A3 =5

300 X600X100

1




FaKAE-2
7] % ™ &
FRIALE DARNFEFKE FH LE (RT) R HEEP ¢ 75m/m
R S 7 N ) I G R -/ N - o MR-/ R - o N RN - ) N - ) IR ) N - i N AN - i =)= > G N : =
BRH-ER|E R |& SR Sm|F SR SmFE SR SMF SR SWFE SIE W K M (1)
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DT 2t
B - ALER VI 1 8.45 1.26  +  4.27 13.98| m3
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BHO. 2m3 0.60 X 0.790 X 50.40
i iA VIE — (x/4 X 0.090 X 0.090 ) X 50.40 23.57| m3
DT 2t PR il
¥ - ALH VAE 23.57 — 15.12 8.45| m3
DT 2t 2
MR L (AR {0.60 X 0.290 —(x/4X_0.090 } X 50.40 8.45| m3
MR L Wi+ 0.60 X 0.50 X 50.40 15.12( m3
o R
4 R M hiis it ) = B & | HAr
¢ 75m/m H=0. 60m
(REETO®) H O O+ T 5.0 m
t=5cm
AR B L i idETICE B
t=3cm
ElEE U L BB EiEETICE B
t=10cm
ElEE U L av )=} idETICE B
BHO. 2m3 0.60 X 0.610 X 5.00 — (x/4 X 0.065 X 0.065 )
AN Eiit VAE — (x/4 X 0.118 X 0.118 ) X 5.00 1.77] m3
BHO. 2m3 0.60 X 0.610 X 5.00 — (x/4 X 0.065 X 0.065 )
A VEE + — (x/4 X 0.118 X 0.118 ) X 5.00 1.77| m3
DT 2t PRAR il
¥ - ALH VAE 1.77  — 0.51 1.26] m3
DT 2t 0.60 X 0.325 X 5.00 — (xn/4 X 0.063 X 0.063)
R L LR — (x/4 X 0.125 X 0.125 ) X 5.00 0.91 m3
MR L Wi+ 0.60 X 0.17 X 5.00 0.51| m3
(RC-40) t=15cm
B T BTV idETICE B
t=3cm
A X BV EETICEH B
t=10cm
S vy =} idETICE B




% B #H =® £ ()
TE4 EFIRE DR ARG E TR THE (RT) 2
4 g M £l it ) K ¥ & | B4z
¢ 75m/m H=0. 60m
(FE¥+T1.30) #HOR £ T = 12.5m
SfEYIM T t=10cmPL F SiEETIZEE
t=5cm
SERUE L [[BAKMEN T -TAaY AidETICE
BHO. 2m3 0.60 X 0.790 X 12.50
K Eii VAE + (/4 X 0.090 X 0.090 ) X 12.50 5.85| m3
BHO. 2m3 0.60 X 0.790 X 12.50
5 A VHEL (z/4 X 0.090 X 0.090 ) X 12.50 5.85| m3
DT 2t R Mt
et VAE + 5.85 — 1.58 4.27] m3
DT 2t 2
HOE L s 0.60 X 0.290 —(m/4X 0.090 } X 12.50 2.10] m3
R L Wi+ 0.60 X 0.21 X 12.50 1.58] m3
(RC-40) t=24cm
B T BT =Ty SEETICEH B
oo R
4 g M £l i B K ¥ & | B4z




e fn Al & o F N E G

jiN=}

KE HE B T H (RT)

2 B # H &£
WEAKE-3
S foT FEE
PR RN OB O REOB OB A

=q1108
B




# B 3 K F (Q)

T4 “FRnALE O FRAFEKE B THF (RT)

4 R iz Bt i B = B & | B4

SEFNRIE OFRAREGKE TR THE (RT)
prE’r“é—ﬁ jﬁ %& j: I
H=0. 60 14.450 + 38.000 + 6.440

HN+T@ ¢ 50 19.720 + 130.390 + 3.270 =  212.270 212.3] m
H=0. 60

EHNA LT ¢ 50 21. 460 = 21. 460 21.5| m
H=0. 60

FHEETO ¢ 50 6.510 = 6.510 6.5| m
H=0. 60

FEEgE+ETO® ¢ 50 16. 010 = 16.010 16.0] m
H=0. 60

R % 1+ T.00 ¢ 50 3.400 4+  3.790 = 7.190 7.2 m
H=0. 60

R+ T.AD ¢ 50 3.070 = 3.070 3.1 m




H & 3 H E (0
LTHEA4 SEFIALE OFRARIE K E FH THF (R
4 i Mo B i B X | HLAT
SRR DR ARG AKE R LFE (RT)
HPPEAS M O¥% T
FEE+TE
FE] t=10cmA T 6.50 X 2.0 13. 000 13.0] m
t=5cm
SREERUE L | EkMENT-T A2y 0.80 X 6.50 5. 200 5.2] m2
4t DT
FROEMALEE  As [ L=5. 0kmPAN 5.20 X 0.03 0.156 0.2] m3
t=5cm
SEEEIH T BN T-TAay 0.80 X 6.50 5. 200 5.2] m2
(RC-40) t=24cm
AR T ATy 0.60 X 6.50 3. 900 3.9 m2
R +TO
t=3cm
ELEIE L X g 0.80 X 16.00 12. 800 12.8] m2
t=10cm
ELEIE L avy)-} 0.80 X 16.00 12. 800 12.8] m2
4t DT
FREMALEE  Co [ L=5. 0kmEPAN 12.80 X 0.13 1. 664 1.7 m3
t=5cm
MPEEIHTT v i Gn) 0.80 X 16.00 12. 800 12.8] m2
t=3cm
X oV I 0 X 4 0.80 X 16.00 12. 800 12.8] m2
t=10cm
a/))-MEIR av))=h 0.80 X 16.00 12. 800 12.8] m2
(RC-40) t=15cm
AR T ATy 0.60 X 16.00 9. 600 9.6 m2
FRl % 1+ T
t=2cm
X WEIR W 0.80 X 7.20 5. 760 5.8 m2
t=8cm
MPEEIHT veds G 0.80 X 17.20 5. 760 5.8] m2
(RC-40) t=15cm
AR T ATy 0.60 X 7.20 4. 320 4.3] m2
R+ T
FE] t=10cmA T 3.10 X 2.00 6. 200 6.2 m
t=4cm
AEHUE L e RE AR 0.80 X 3.10 2. 480 2.5] m2
4t DT
FREMALEE AS | L=5. OkmPLAY 2.480 X 0.03 0.074 0.1] m3
t=4cm
SEEEIH T KR F K 0.80 X 3.10 2. 480 2.5| m2
(RC-40) t=10cm
AT P TV =5y 0.60 X 3.10 1. 860 1.9] m2




B E O E E (Q
TE4 SEFIRE DR A REEKE TR THE (RT)
4 G Mk i A = B A | BT
SEFRAE O ARAERAKE FH THE (RT)
ASTER I S e i =0 M S A -4 T B A& T
¢ 50 TR ©2) L b
AT HPPE-JW 266. 51 266. 51 266.5| m
(hsz ) ¢ 50 TR SR L
i T T HPPE-JW 46 + 2 + 2 50. 00 50| 57T
(Jry EB) ¢ 50 Yy M G LY
B 5 T T HPPE-JW 2 + 12 14. 00 14| T
HPPE® ¢ 50 e LY EE LY
g W T HPPE-JW 5 + 9 14. 00 14| N0
AH=F )
HEF T ¢ 50 1 1. 00 1 o
¢ 50 TR ©2) L b
)i E T | HPPE-JW 2 2. 00 2|
R Ry - W=15cm 266. 51 266. 51 266.5| m
HPPE%% Eis = T
(AEN+LO®) TR ©2) L b
o= ¢ 50 H=0.60 1 + 1 2| J&
O 23
¢ 40 TR ©2) L b
ERET PP 360. 30 360.3] m




~

FEIKE-3

H B MR &F (D
TH4  FRAEOZFRAREKGKE T TE (R7)
4 i) iz B it B = o & | Er
SEFRAE O FRA R AKE FH TF (RT)
BB M kEAmEREEREY ) E ' M K% B
EF i1 ¢ 50 HEE Q) LY
= =4 HPPE-JW 46 46
EF 5z 1 ¢ 50 EEE Q) Kb BE AL Y
BE (FEE) HPPE-JW 2 2
EF i ¢ 50 EEIE Q) b BYE AL Y
= =4 HPPE-JW 3+ 1 4
EFli 5z H ¢ 50X 90° EEIE Q) kv
i = HPPE-JW 7 7] A
EFli 5z H ¢ 50 X 45° EEIE Q) kv
i = HPPE-JW 4 4 fH
EFli 5z H $H50X11° EEIE Q) kv
i = HPPE-JW 1 1] f#
EF ¢ 50 EER Q) LY
V7 b HPPE-JW 2 2| &
EER Q) LY
PCY” a{v/} ¢ 50 1 1| 1A
VA NS IY ¢ 50 EER Q) LY
£ 8] I HPPE-JW 1+ 1 2| F&
fEEIF ¢ 50 hEBMEE
I (R 4£) MSN-SLU1 2 2| 14
2 (=35) 15[ MSN-K - SLUL 2 2| {H
7" 9AFy G IMSNKGE A OTK 2 2| A
JEEIR
UBIIE 2 | 300 X600 100 2 2| @




v

] & & &
SR O FR NSRS B T i % HEEP ¢ 50m/1 #ifg
4 70 O N - - 4 Z v & Z v & Lo I 4 Lo I 4 % | sk | i =
FAlE OBRAERGAKE TH L (RT)
BRH-ER|E R |& SR Sm|F SR SmFE SR SMF SR SWFE SIE W K M (1)
HEEP ¢ 50mm 5.000 @ 1.735 3. 000 0. 27 2
” 5.000 ©@ 0.837 1. 900 2. 026 0.24 3
” 5. 00 0. 325 2.946 1.532 0. 20 3
” 5. 00 2.819 1. 966 0.22 2
” 5. 00 1.370 1.933 0. 788 0. 788 0.12 4
14|10 5 A
kg/m t
B B B 3 1.035| 1.080 | 0.001
PANE-
= L
0. 001




» B #H H F @

THEA SEFANE DR FE AR K R L 1
+ T & B £
4 b Mk AeARE—3 ¢50m/m __ H=0.60m ¥ B | WL
ERAEORARGAKEER LE  FHN =] % =] % Bl Bl
+T® +IT® +IT® +T@® +T@
BHO. 2m3
JZS £ VIt 96.53 + 2.76 + 5.54 + 2.93 + 1.33 109. 1| m3
BHO. 2m3
A VIE A 96.53 + 2.76 + 5.54 + 2,93 + 1.33 109.1] m3
DT 2t
7% AL VIE A 32.84 + 1.94 + 3.91 + 1.85 + 0.66 41.2| m3
DT 2t
R L {REEN 32.84 + 1.01  + 2,47 4+ 1.11 _+ 0.48 37.9] m3
R L i+ 63.69 + 0.82 + 1.63 + 1.08 + 0.67 67.9] m3
B #H H F (W
THEY SRR O R FE AR K R L 2
+ T & B £
4 b Mok AeARE—3 ¢50m/m ___ H=0.60m ¥ B | WL
Bl
AN+T
N
JZS £ VIt 9.78 9.78| m3
N
A VI A 9.78 9.78| m3
DT 2t
7% e VI A 3.33 3.33| m3
N
MR L {REEN 3.33 3.33| m3
N
R L i+ 6.45 6.45[ m3




2 = Hi -1 £ (@
TE4 SEFNALE D FRA RS KE HH T (RT) 1
4 B M B it L = % & | B
TERIAE D FEARGAKERE S LE (RT) ¢ 50m/m H=0. 60m
HANET.@) W oF + T L= 212.3m
BHO. 2m3 0.60 X 0.763 X 212.3
7S £ VAE T — (x/4 X 0.063 X 0.063 ) X 212.3 96. 53| m3
BHO. 2m3 0.60 X 0.763 X 212.30
B A ViE + — (x/4 X 0.063 X 0.063 ) X 212.3 96.53| m3
DT 2t P Pt
5% AL Vg + 96.53  — 63.69 32. 84| m3
DT 2t 2
HORE L LREERD {0.60 X 0.263 —(x/4X 0.063 } X 212.3 32.84| m3
R L DiiVaz 0.60 X 0.50 X 212.3 63.69] m3
DU
4 B M B it L = ¥ = | B
¢ 50m/m H=0. 60m
RNAFIET) W oF + T L= 21.5m
NV 0.60 X 0.763 X 21.50
7S £ VAE T — (x/4 X 0.063 X 0.063 ) X 21.50 9.78] m3
NV 0.60 X 0.763 X 21.50
B A ViE + — (x/4 X 0.063 X 0.063 ) X 21.50 9.78 m3
DT 2t A FEm A
Je s ] L=13kmPA F 9.78  — 6.45 3.33| m3
NV 2
HORE L LREERD {0.60 X 0.263 —(x/4X _0.063 } X 21.50 3.33] m3
NI
R L DiiVaz 0.60 X 0.50 X 21.50 6.45| m3




% B # B £ (v
T4 SEFNALE D FRA RS KE HH T (RT) 2
4 B M B it L = % & | B
¢ 50m/m H=0. 60m
(HE L T.E) W oF + T L= 6.5 m
SYEGINT T | t=10cmPl F 6.50 X 2.00 13.00] m
t=5cm
SRR L [ Bk ENT-T A3y 0.60 X 6.50 3.90| m2
BHO. 2m3 0.60 X 0.713 X 6.50
7S £ VAE T — (m/4 X 0.065 X 0.065 ) X 6.50 2.76| m3
BHO. 2m3 0.60 X 0.713 X 6.50
B A Vg + — (m/4 X 0.065 X 0.065 ) X 6.50 2.76] m3
DT 2t A Pt
5% AL L=13kmL F 2.76_ — 0.82 1.94] m3
DT 2t 2
HORE L LREERD {0.60 X 0.263 —(x/4X _0.063 } X 6.50 1.01] m3
R L DiiVaz 0.60 X 0.21 X 6.50 0.82| m3
(RC-40) t=24cm
% T FA Ty e=5y 0.60 X 6.50 3.90| m2
DU
4 B M B it L = ¥ = | B
¢ 50m/m H=0. 60m
(HE L= T.D) W oF + T L= 16.0m
t=5cm
AR B4 L i 0.80 X 16.00 12.80[ m2
t=3cm
AlTE R L B TV s TICEE
t=10cm
AlTE R L av))=h SEETICE L
BHO. 2m3 0.60 X 0.583 X 16.00
7S £ VAE T — (m/4 X 0.065 X 0.065 ) X 16.00 5.54| m3
BHO. 2m3 0.60 X 0.583 X 16.00
B A ViE + — (m/4 X 0.065 X 0.065 ) X 16.00 5.54| m3
DT 2t P FEm
Je 8L ] L=13kmPA F 5.54 — 1.63 3.91| m3
DT 2t 2
HORE L LREERD {0.60 X 0.263 —(x/4X _0.063 } X 16.00 2.47| m3
R L DiiVaz 0.60 X 0.17 X 16.00 1.63] m3
(RC-40) t=15cm
% T FAEI G5y idE TR B
t=3cm
Sl B TV s TICEE
t=10cm
Sl av))=h SEETICE L




2 = Hi -1 £ (@
TE4 SEFNALE D FRA RS KE HH T (RT) 3
4 B M B it L = % & | B
¢ 50m/m H=0. 60m
(FE# 1 T.00) o £ T L= 7.2 m
Ah-nyxv)” t=8cm
7y AL Fih SEETICE
t=2cm
i Thy SEETICE
BHO. 2m3 0.60 X 0.683 X 7.20
7S £ VAE T — (x/4 X 0.065 X 0.065 ) X 7.20 2.93| m3
BHO. 2m3 0.60 X 0.683 X 7.20
B A ViE + — (x/4 X 0.065 X 0.065 ) X 7.20 2.93| m3
DT 2t P iR
5% AL L=13kmL F 2.93 — 1.08 1.85] m3
DT 2t 2
R L LREERD { 0.60 X 0.263 —(x/4X _0.063 } X 7.20 1.11] m3
R L DiiVaz 0.60 X 0.25 X 7.20 1.08] m3
(RC-40) t=15cm
% T FA =5y idE TSR B
DU
4 B M B it L = ¥ = | B
¢ 50m/m H=0. 60m
(FE# 1 T.) o £ T L= 3.1m
SEEUIMT T | t=10emPl F ik TICE L
t=4cm
BEEHUE L | mmesimcl ik TICE L
BHO. 2m3 0.60 X 0.723 X 3.10
7S £ VAE T — (x/4 X 0.065 X 0.065 ) X 3.10 1.33] m3
BHO. 2m3 0.60 X 0.723 X 3.10
B A ViE+ — (x/4 X 0.065 X 0.065 ) X 3.10 1.33] m3
DT 2t A iR
Je s ] L=13kmPA F .33 — 0.67 0.66| m3
DT 2t 2
R L LREERD { 0.60 X 0.263 —(x/4X _0.063 } X 3.10 0.48| m3
R L DiiVaz 0.60 X 0.36 X 3.10 0.67| m3
(RC-40) t=10cm
% T FAEI G5y idE TR B




EF Al o BN BB

4K BT (RT)

£ B 2 " -
ka4
SE il T OAEJE
DETRE = - SR S )

=1
PH




H 2 #H B (2

T4 SERANEE O RN RS AKE ST TE (RT)

4 pin M £t i B = B & | HNL
HPPEA% # o L+ T
H=0. 60

HNt+TO® ¢ 50 1.120 +  1.080 2.20 2.2 m
H=0. 60

EHNLETO® ¢ 50 2.800 2.80 2.8 m




H & 3 H E (0
LTHEA4 AR OB ARG K EETH T (R
4 R Mo B it 5] =X % HAL
HPPEAS M O¥% T
FEELETO L=2. 80m
t=5cm
AR AL i 0.80 X 2.80 .24 m2
t=3cm
ELEIE L X 4 0.80 X 2.80 .24 m2
t=10cm
ELEIE L avy)-} 0.80 X 2.80 .24 m2
4t DT
Co FREMRALER | L=5. OkmLLPN 2.240 X 0.13 .29 m3
t=5cm
MPEEIHT v Gl 0.8 X 2.80 .24 m2
(RC-40) t=15cm
B oA T AT =5y 0.60 X 2.80 .68 m2
t=3cm
i i Ty 0.80 X 2.80 .24 m3
t=10cm
Al avy)-} 0.80 X 2.80 .24 m3




H E H B F (D
TH4 SERAIE O RARBAKESEFTHTE R
4 i M £l i ) =K B B | 4L
KT SRR s PR R Y o fV T ¥ A
¢ 50 EEEQ) LV
BAIER T HPPE-JW 5. 00 5. 00 5.0/ m
(h=n) ¢ 50 R R SR LY
Bl A k= T HPPE-JW 2 2| fEpr
Oy D) ¢ 50 N 7t e )
B A k= T HPPE-JW 1 1| T
HPPE® ¢ 50 )
9 W T HPPE-JW 2 ol @
HEE 1) LY
A=k T T ¢ 50 1 1| X
6 50 BRI (1) LY
) FpEkiE T HPPE-JW 1 1| %
HPPEAS Ein =
(HANLTO®) HEE 1) LY
)R ¢ 50 H=0. 60 1 1| %
JHER A RY—b W=15cm 5.00 5. 00 5.0 m




FRKE -4

% & i B F (0

TE4 FRAEORARBKESEHTE R
4 g # £ gt B = B | B4
BB M kiE R E e ) vy 5 M K B
EFf 5 A ¢ 50 wEIR (2) ROYEREL Y
EE (FUE)|  HPPE-JW 1 N
EF 6 50 EEE Q) LY
Vv b HPPE-JW 1
V7~ —Y ¢ 50 EEIE Q) LY
fE 8] 5 HPPE-JW 1 =
HER () kY
PVY" 2V} ¢ 50 1 il
BB M kiE R E e ) vy E M % B
85 ¢ 50 EEHEKE
IR (RIK) MSN-SLU1 1 A
= (EZ) P& MSNK - SLUL 1 &
7" 92Fy ) MSNAKEH  OTK 1 1
JEERR
UALAIEZS | 300 X 600X 100 1 1




K -4
7] % ™ &
FRAE O FRAEAE K FH TS % f&  HEEP ¢ 50m/m  Huf##
R S 7 N ) I G R -/ N - o MR-/ R - o N RN - ) N - ) IR ) N - i N AN - i =)= > G N : =
BRH-ER|E R |& SR Sm|F SR SmFE SR SMF SR SWFE SIE W K M (1)
HEEP ¢ 50mm 5. 00 3.453 0.721 0.83 2
2[n 1K
kg/m t
B B B 3 0.826( 2.300 [ 0.002
& F
0. 002




# B #H K #E

T 44 SEFIAITE O R A BEGE K TR L g 1
+ T #® B %
£, e I HBARE—4 ¢ 50m/m H=0. 60m ¥ & | BT
BN =] %
+T® +T®
BHO. 2m3
KR VPE A+ .00+ 0.97 1.97| m3
BHO. 2m3
A VBt .00+ 0.97 1.97| m3
DT 2t
FE AL Vgt 0.34 + 0.68 1.02| m3
DT 2t
R L g 0.34  + 0.42 0.76] m3
MR L iV az 0.66  + 0.29 0.95| m3




B # H £ (2)
TH4 ERIALE OFRARE K E LT TH (RT) 1
4 g M B it ) K ¥ & | HAT
¢ 50m/m H=0. 60m
(FEN+LO) 2 R £ I L=2.20 m
BHO. 2m3 0.60 X 0.763 X 2.20
AN Ei VIE T (/4 X 0.063 X 0.063 ) X 2.20 1.00| m3
BHO. 2m3 0.60 X 0.763 X 2.20
i A VIE T (/4 X 0.063 X 0.063 ) X 2.20 1.00[ m3
DT 2t PR iR
¥ - ALH L=13kmLA F .00 — 0.66 0.34] m3
DT 2t 2
MR L {ReERD 0.60 X 0.263 —(x/4X _0.063 } X 2.20 0.34] m3
MR L DiiVaz 0.60 X 0.50 X 2.20 0.66] m3
o R
4 g M B it ) K ¥ & | HAT
¢ 50m/m H=0. 60m
(FE®+TD) 2 R £ I L=2.80 m
t=5cm
AR Y B L biibid SEETTICE
t=3cm
EliEE U L X T A2 TR B
t=10cm
EliEE U L avy) -} SEETTICE
BHO. 2m3 0.60 X 0.583 X 2.80
AN Ei VIE T (/4 X 0.065 X 0.065 ) X 2.80 0.97] m3
BHO. 2m3 0.60 X 0.583 X 2.80
i iA VIE T (/4 X 0.065 X 0.065 ) X 2.80 0.97[ m3
DT 2t PRAR EjiRe
¥ - ALH L=13kmLA F 0.97 — 0.29 0.68] m3
DT 2t 2
MR L ReER 0.60 X 0.253 —(m/4X _0.065 } X 2.80 0.42] m3
MR L DiiVaz 0.60 X 0.17 X 2.80 0.29] m3
(RC-40) t=15cm
B T BTV idETICE B
t=3cm
iR X BV SEETICEH B
t=10cm
S avy) -} SEETICE




EF Al o BN BB

4K BT (RT)

£ B 2 " -
#7KE -5
SE il T OAEJE
DETRE = - SR S )

=1
PH




H 2 #H B (2

T4 SERANEE O RN RS AKE ST TE (RT)

4 pin M £t i B = | AL
HPPEA% # o L+ T
H=0. 60 +  3.000

HNt+TO® ¢ 50 3.930 + 3.850 + 38.960 = 49. 74 49. m
H=0. 60

HEN+TO ¢ 50 119.250 + 3.750 + 86.020 = 209. 02 209. m
H=0. 60

FEHE+ETO $ 50 2.920 = 2.92 2. m
H=0. 60

g+ TO ¢ 50 3. 520 = 3.52 3. m
H=0. 60

FHE+ETO ¢ 50 2.090 = 2.09 2. m
H=0. 60

FEiE+ETO ¢ 50 9. 000 = 9.00 9. m
H=0. 60

HiE+TO ¢ 50 9. 000 = 9. 00 9. m
H=0. 60

HiE+TE ¢ 50 1. 970 = 1.97 2. m




H B # B #E (0
T4 ERALE OFR AR AKE LT TH (R7)
4 g izl B g B = | BT
HPPE% & &% T
FHELTO
HAE DI T t=10cmLh T 2.9 X 2.0 = 5. 80 5.8/ m
t=4cm
SRR L A3y 0.8 X 2.90 = 2.32 2.3 m2
4t DT
As FRERRALEL [ L=5. OkmPLPY 2.32 X 0.03 = 0.07 0.1 m3
t=4cm
AiEEIEIH T 7Aay 0.8 X 2.90 = 2.32 2.3 m2
(RC-40) t=15cm
B T AT =5y 0.60 X 2.90 = 1.74 .70 m2
FEE+ETO 3.5
RIE DI T t=10cmLh T 3.5 X 2.0 = 7.00 7.0l m
t=3cm
SR L [k T-TRay 0.8 X 3.50 = 2. 80 2.8 m2
4t DT
As FRERRALEL [ L=5. OkmPLPY 2.80 X 0.03 = 0.08 0.1 m3
t=3cm
SEEIEHT BN TRy 0.8 X 3.50 = 2. 80 2.8 m2
(RC-40) t=10cm
B T AT =5y 0.60 X 3.50 = 2.10 2.1 m2
FHE+ET@ 2.1
ARIE DI T t=10cmLh T 2.1 X 2.0 = 4.20 1.2 m
t=4cm
SREEIUE L KR F K 0.80 X 2.10 = 1.68 1.7 m2
4t DT
co FRIEMEALEE | L=5. OkmLAN 1.68 X 0.04 = 0.07 0.1 m3
t=4cm
SEE T [RIKERBAKN 0.80 X 2.10 = 1.68 1.7 m2
(RC-40) t=10cm
B T AT =5y 0.60 X 2.10 = 1.26 1.3 m2
FHE T 9
ARAE DI T t=10cmLh T 9.00 X 2.0 = 18. 00 18.0] m
t=5cm
SR L [BKMENT-TRay 0.80 X 9.00 = 7.20 7.2 m2
4t DT
As FRERRALEL [ L=5. OkmPLPY 7.20 X 0.05 = 0.36 0.4 m3
t=5cm
SEEIEHT BN TRy 0.80 X 9.00 = 7.20 7.2 m2
(RC-40) t=24cm
B T AT =5y 0.60 X 9.00 = 5. 40 5.4 m2




¥ O# O OEH OE (2
TH4 ERALE OFRARIE K EE T TH (RT)
4 G Mk it B K B | BT
8 % T
HEETO
AW T t=10cmPh F 9.00 X 2.0 = 18. 00 18. m
t=5cm
EEE U L 7R3y 1.30 X 9.00 = 11.70 11.7] m2
4t DT
As FRIEMEALEE | L=5. OkmLLPN 11.70 X 0.05 = 0. 59 0.6] m3
t=5cm
SiYEEIHT 7R3y 1.30 X 9.00 = 11.70 11.7] m2
(M-40) t=15cm
LEaE T AR R 0.60 X 9.00 = 5. 40 5.4 m2
(RC-40) t=20cm
TERET BTGy 0.60 X 9.00 = 5. 40 5.4 m2
HEETO
AEE Y)W T t=10cmPh F 2.00 X 2.0 = 4,00 4. m
t=3cm
AT L TAay 1.30 X 2.00 = 2. 60 2.6] m2
4t DT
As FRIEMEALEE | L=5. 0kmLLN 2.60 X 0.03 = 0. 08 0.1] m3
t=3cm
SiYEEIHT 7R3y 1.30 X 2.00 = 2. 60 2.6] m2
(RC-40) t=10cm
B A T BTGy 0.60 X 2.00 = 1.20 1.2] m2




FIKE -5
H E H B F (D
TH4 ERIALE DB ARKGAKELERH TH R
4 R iz £l i B =K B B | 4L
KT SRR s PR R Y o fV T ¥ A
¢ 50 X (2) £ v
EAiEE T HPPE-JW 284.260 + 3.000 = 287.26 287.3 m
(h=nm) ¢ 50 R R SR LY
EE T T HPPE-JW 46 + 5 + - 56. 0 56|
¢ 50 RIpE  GHERR LY
ElE T T HPPE-JW 18 - 18.0 18| w
HPPE® ¢ 50 HEE L 0 ZHE LY
v W T HPPE-JW 8 + 9 = 17.0 17l ©
¢ 50 X (2) £ v
) FpEkiE T HPPE-]JW 2 + 1 = 3.0 3| %
HPPESS s
(AN+TO®) K (2) kv
)R ¢ 50 H=0. 60 2 + 1 3| JE
JHER A RY—b W=15cm 284.260 + 3.000 = 287.26 287.3] m




FRIKE -5

% & i B F (0

TH4 ERARSEORARGKEETH LH RT)
4 B M B il ) N & | B
BB M KGE R S R Vofy ' M ¥ E
EFR %A ¢ 50 BEI(2) LY
B HPPE-JW 46 46 A&
EFf %1 ¢ 50 BEI (), ) ROYVERE LY
EE (HE)E)|  HPPE-JW 5 5| &
EF i ff [ ¢ 50 BEI (), ) ROYVERE LY
B HPPE-JW 12 12| &
EF T3 H ¢ 50X 50 HE (2) £ 9
F—=x HPPE-JW 1 1| @
EF 40 $50X11° BRI (2) XY
ih E HPPE-JW 2 2|
EF T3 F ¢ 50X 90° HE (2) £ 9
ih E HPPE-JW 6 6| 1
EF T3 F ¢ 50X 45° HE (2) £ 9
ih E HPPE-JW 4 4| A
EF T3 F ¢ 50X 22° HE (2) £ 9
ih E HPPE-JW 2 2|
EF 4 1 ¢ 50X 11° HE (2) £ 9
ih E HPPE-JW 1 1| @
EF 4 1 ¢ 75X 50 HE (2) £ 9
L= —H—|  HPPE-JW 1 1| A
EF ¢ 50 HE (2) £ 9
Yo b HPPE-JW 3 3|
EF ¢ 50 HIE (2) £ 9
Xy v HPPE-JW 1 1| @
V7 k=Y HPPE-JW EER (2) XY
it 8 5 ¢ 50 2+ 1 3| %
BB M PKEER S YERER ) f v ' M K E
L5157 ¢ 50 R EEHKE
I (R E) MSN-SLU1 3 3| 1A
5 (2%) T35 MSN-K - SLU1 3 3| fH
7 9xFy ) B [MSNAKGE ] OTK 3 3| {®@
JEERR
UBIAII#E S | 300600 X100 3 3 {#




v

TRT 5

PRALE DARNEFARE T B LFE (R7) & £%  HEEP ¢ 50m/m Hi##H
4 7 I N - B 4 Z v & Z v & Z v & Z v & pe | Bin¥k i =
BRH-ER|E R |& SR Sm|F SR SmFE SR SMF SR SWFE SIE W K M (1)

HEEP ¢ 50mm 5. 00 4. 642 0.36 1

” 5. 00 2. 457 2.141 0.40 2
” 5. 00 3. 000 1.707 0.29 2
” 5. 00 4. 000 0.721 0.28 2
” 5. 00 4. 820 0.18 1
” 5. 00 4. 869 0.13 | -
” 5. 00 4.723 0.28 | -
” 5. 00 4. 296 0. 589 0.12 2|l 7
” 5. 00 2.483 1. 025 1.49 2l 7
” 5. 00 2.106 1.148 1. 099 0.65 3] 7
1700 10 A
kg/m t
B B B 3 4.174] 1.160 | 0.005
AN =
=] "
0. 005




H B B H # (@

TH4 SR 0D R AR A K S T (RT) 1
+ T ® F &
4 b Mk #eKE—5 ¢50m/m __ H=0.60m H | B
RN RN &Rl % &Rl % &Rl % &Rl % i i
+T® +TO +T® +TO +T® +TO +TO® +T®
BHO. 2m3
KR VIE 22.60 + 101.17 + 1.33 1.63 0.96 3.82 6. 59 0.87 = 138.97| m3
BHO. 2m3
b iA VIE 22.60 + 101.17 + 1.33 1.63 0.96 3.82 6.59 0.87 = 138.97| m3
DT 2t
7 1 aER VIRt 8.93 + 2802 + 0.79 0.85 0.51 2. 69 5.78 0.43 = 48.00| m3
DT 2t
R L (REEHD 7.69 + 38.19 + 0.53 0. 64 0.38 1.39 3.89 0.31 = 53.02| m3
R L i - 13.67 + 73.15 + 0.54 0.78 0. 45 1.13 0.81 0. 44 = 90.97| w3




H & # B £ (v
T4 EFIALE D FRAFAG K EE LR TH (R7) 1
4 i M B it L = B & | BT
¢ 50m/m H=0. 60m
HANET.@) W oF + T L=49.70 m
BHO. 2m3 0.60 X 0.763 X 49.70
7S £ VAE T (/4 X 0.063 X 0.063 ) X 49.70 22.60[ m3
BHO. 2m3 0.60 X 0.763 X 49.70
B A ViE + (z/4 X 0.063 X 0.063 ) X 49.70 22.60| m3
DT 2t P Pt
5% AL L=13kmL F 22.60 — 13.67 8.93| m3
DT 2t 2
HORE L LREERD 0.60 X 0.263 —(xm/4X  0.063 } X 49.70 7.69| m3
R L v 4= 0.55 X _0.50 X 49.70 13.67] m3
R
4 g0 M B it B = B & | BT
¢ 50m/m H=0. 60m
FHANET.O) W oF + T L=209.0 m
BHO. 2m3 0.60 X 0.825 X 209.00 — (z/4 X  0.065 X 0.065 )
7S £ VAE T (z/4 X 0.118 X 0.118 ) X 209.00 101. 17| m3
BHO. 2m3 0.60 X 0.825 X 209.00 — (z/4 X  0.065 X 0.065 )
# A VAE T (/4 X 0.118 X 0.118 ) X 209.00 101.17[ m3
DT 2t P Pt
5% AL L=13kmL F 101.17 — 73.15 28. 02 m3
DT 2t 0.60 X 0.325 X 209.00 — (z/4 X  0.063 X 0.063 )
R L PREERD (/4 X 0.125 X 0.125 ) X 209.00 38.19| m3
R L Vi 4= 0.70 X 0.50 X 209.00 73. 15[ m3




# B Hi " £ (0
TE4 SRR OFE ARG K EEFTH TH (RD) 2
4 B M B it L = ¥ & | Hfr
¢ 50m/m H=0. 60m
(FE+T@) HWH £ T 1=2.9 m
SEEUIMT T | t=10emPl F ik TICE L
t=4cm
AlTE R L 7Ay s TICEE
BHO. 2m3 0.60 X 0.785 X 2.90 — (zx/4 X 0.065 X 0.065 )
7S £ VAE T (/4 X 0.118 X 0.118 ) X 2.90 1.33] m3
BHO. 2m3 0.60 X 0.785 X 2.90 — (zm/4 X 0.065 X 0.065 )
B A ViE+ (/4 X 0.118 X 0.118 ) X 2.90 1.33| m3
DT 2t A iR
FE AL L=13kmL F .33 — 0.54 0.79] m3
DT 2t 0.60 X 0.325 X 2.90 — (z/4 X 0.063 X 0.063 )
R L PrREERD (n/4 X 0.125 X 0.125 ) X 2.90 0.53] m3
R L DiiVaz 0.60 X 0.31 X 2.90 0.54] m3
(RC-40) t=15cm
% T FA G5y idE TSR B
DU
4 B M B it L = ¥ & | BT
¢ 50m/m H=0. 60m
(FEE+-TO) o £ T l=3.5 m
SEEUIMT T | t=10emPl F ik TICE L
t=3cm
SO L @K T-T Ay SEETICE L
BHO. 2m3 0.60 X 0.795 X 3.50 — (z/4 X 0.065 X 0.065 )
7S £ VAE T (/4 X 0.118 X 0.118 ) X 3.50 1.63| m3
BHO. 2m3 0.60 X 0.795 X 3.50 — (zm/4 X 0.065 X 0.065 )
B A ViE+ (/4 X 0.118 X 0.118 ) X 3.50 1.63| m3
DT 2t A iR
5% AL L=13kmL F 1.63  — 0.78 0.85| m3
DT 2t 0.60 X 0.325 X 3.50 — (zm/4 X 0.063 X 0.063 )
R L PREERD (n/4 X 0.125 X 0.125 ) X 3.50 0.64| m3
R L DiiVaz 0.60 X 0.37 X 3.50 0.78| m3
(RC-40) t=10cm
% T FAEI =5y idE TR B




x & # B £ (v
T4 SRRSO REGAKE ST TE (RT) 3
4 i M B it L =Y B & | BT
¢ 50m/m H=0. 60m
(L T@) W oF + T L=2.1 m
Ali%E BT T T t=10cmLh T idE TR B
t=4cm
BRAEHUEE U | smsmiiane it TICE B
BHO. 2m3 0.60 X 0.785 X 2.10 — (=/4 X  0.065 X 0.065 )
7S £ VAE T — (x/4 X 0.118 X 0.118 ) X 2.10 0.96] m3
BHO. 2m3 0.60 X 0.785 X 2.10 — (=/4 X  0.065 X 0.065 )
# A VAE T — (/4 X 0.118 X 0.118 ) X 2.10 0.96] m3
DT 2t i FEm A
FE AL L=13kmL F 0.96  — 0.45 0.51| m3
DT 2t 0.60 X 0.325 X 2.10 — (=/4 X  0.063 X 0.063 )
R L PrREERD — (/4 X 0.125 X 0.125 ) X 2.10 0.38] m3
R L DiiVaz 0.60 X 0.36 X 2.10 0.45| m3
(RC-40) t=10cm
¥ T FA G5y idE TSR B
o R
4 i Mo B i 5] = B & | HAE
¢ 50m/m H=0. 60m
(FE®LETE) #OR £ T 1=9.0 m
SHEEUIMT | t=10emPl F APE TSR B
t=5cm
ARG L [ Bk IENT-T Ay ATETICE E
BHO. 2m3 0.60 X 0.713 X 9.00
JZS B VE+ — (x/4 X 0.065 X 0.065 ) X 9.00 3.82| m3
BHO. 2m3 0.60 X 0.713 X 9.00
& A VE+ — (/4 X 0.065 X 0.065 ) X 9.00 3.82| m3
DT 2t AR i
5% LB L=13kmlL T 3.82 — 1.13 2.69] m3
DT 2t 2
HRE L PREEWD { 0.60 X 0.263 —(x/4X __0.063 } X 9.00 1.39[ m3
HE L Vi - 0.60 X 0.21 X 9.00 1.13[ m3
(RC-40) t=24cm
B oA T BTG5 APE TSR B




x & # B £ (v
TE4 SRR OFE ARG K EEFTH TH (RD) 4
4 i M B it B = B & | BT
¢ 50m/m H=0. 60m
(MEETO) HWH £ T L=9.0 m
Ali%E BT T T t=10cmLh T idE TR B
t=5cm
AlTE R L 7 Ay N
BHO. 2m3 0.60 X 1.226 X 9.00
7S £ VAE T — (x/4 X 0.065 X 0.065 ) X 9.00 6.59| m3
BHO. 2m3 0.60 X 1.226 X 9.00
# A VAE T — (/4 X 0.065 X 0.065 ) X . 9.00 6.59] m3
DT 2t i FEm A
FE AL L=13kmL F 6.59 — 0.81 5.78[ m3
DT 2t 2
HOE L LREERD {0.60 X 0.726  —(x/4X __ 0.063 } X 9.00 3.89| m3
R L DiiVaz 0.60 X 0.15 X 9.00 0.81]| m3
(M-40) t=15cm
R T | BTy idE TSR B
(RC-40) t=20cm
TEEET | A I idE TSR B
o R
4 R Mo B it B = B & | HAE
¢ 50m/m H=0. 60m
(HE+TE) #OR £ T L=2.00 m
BEEEUIMT T | t=10emPl F APE TSR B
t=3cm
ELEIE L 7 A3y BETICE E
BHO. 2m3 0.60 X 0.733 X 2.00
JZS B VE+ — (x/4 X 0.065 X 0.065 ) X 2.00 0.87| m3
BHO. 2m3 0.60 X 0.733 X 2.00
& A VE+ — (/4 X 0.065 X 0.065 ) X 2.00 0.87| m3
DT 2t AR i
5% LB L=13kmL T 0.87 — 0.44 0.43| m3
DT 2t 2
HRE L PREEWD { 0.60 X 0.263 —(x/4X__0.063 } X 2.00 0.31] m3
HE L Vi - 0.60 X 0.37 X 2.00 0.44| m3
(RC-40) t=10cm
B T B TY=5Y APE TSR B




EF Al o BN BB

4K BT (RT)

£ B 2 " -
*KE-6
SE il T OAEJE
DETRE = - SR S )

=1
PH




% B M H F (0

T4 SEFAE O BRAERE K EE T LE (RT)

4 g J%i s 7t B = B & | HNL
HIVP%E #BO® L+ T
H=0. 60

G2 EsR) ® 25 112.770 +  82.710 = 195.480 195.5| m
H=0. 60

FEH+ETO ¢ 25 3.050 = 3. 050 3.1l m

FH+ETO il 3 T

EliEE BT T t=10cmPA T 3.10 X 2.0 = 6. 200 6.2l m
t=3cm

AEEERUE L B ARMERT=T A3 0.8 X 3.10 = 2. 480 2.5 m2
4t DT

OB MR AL L=5. OkmZLPY 2. 480 X 0. 03 = 0.074 0.1 m3
t=3cm

SEHIELT | FAkMErT-TRaY 0.8 X 3. 10 = 2. 480 2.5 m2

(RC-40) t=10cm
PR T B TY—TY 0. 60 X 3. 10 = 1. 860 1.9] m2




#* B & B F (Q

LA SRR AIE O AR N B Ko 7K 5 BB L g (R7)

4 i M hiis i ) K B & | HAr
HIVPAS T B A& T
HHIE Q) LY Jirgt 2
ThiEx T HIVP ¢ 25 198.530 + 0.360  + 0.980 = 199.87 199.9] m
EEIX(2) L
TSHkF T HIVP ¢ 25 46 + 14 = 60. 00 60| 0
HIVP VT L D
Bk L ¢ 25 15 = 15. 00 15| O
EEIX(2) L
I FREkiE T ¢ 25 2 = 2.00 2| M
2 UiA HEI () £V
ST T ¢ 25 4 = 4. 00 4| [
HIVPE s = T
FEANLETO) wEIX ) o
AR ¢ 25 H=0. 60 2 2
HER I Ry -] W=15cm 198.530 + 0.360 199. 87 199.9




FRKE-6

¥ E B F (2
TH4 ERARSEORARGKEETH LH RT)
4 g Mk it B =X & | AT
B8 M KGEHHIVPE B M K B
HIVPjfi [ ¢ 25 EwEIR(©2) LY
EN HIVP 43 43 K
¢ 25 UIEFELY
BE (B HIVP 6 6] &
¢ 25X 25 IR 2) kv
F—= HIVP 1 1 @
¢ 25X90° BRI (2) XY
LR HIVP 3 3| 1A
¢ 25X 45° BRI (2) XY
LR HIVP 5 5| &
¢ 25X 22° BRI (2) XY
LR HIVP 2 2| &
$25X11° BRI (2) XY
LR HIVP 3 3| 1A
¢ 25 IR 2) kv
VA HIVP 35+ 11 46| 8
IRV T| HIVPE B (2) LY
£ 8 I ¢ 25 2 2|
LEB0 A IR 2) kv
STy b ¢ 25 4 4| {#
i3z [ HIVPE H HEIR (2) kv
Lo —H—| $50X25 1 1 @
¢ 50 IR (2) kv
B (G)E) HIVP 1 S
¢ 50 IR (2) kv
PV = A > | HIVP-HPPE 1 1 @
® 50 B (2) LY PR A
B (G)E) HPPE 1 S
B8 M KGEHHIVPE B M K B
817 25 FEBEMEE
FRE R MSN-SLU1 2 2| 1
2 (13F) 73] MSN-K - SLUI 2 2| &
7" 92Fy ) L IMSNJKJE A OTK 2 2| {@
JERR
URLIEZE [ 300X 600X 100 2 ol




v

TRTE6

g % W OB
SERNA s O 28 SERIAIE O R AR R K S g T % OF HIVP ¢25m/m
4 b I S R - R 4 Z v & Z v & Z v & Z v & pe | Bin¥k i =
BRH-ER|E R |& SR Sm|F SR SmFE SR SMF SR SWFE SIE W K M (1)
HIVP ¢ 25mm 4.00] @ 1.314] ® 1.369] @ ® 1. 197 0.12 4
n 4.00] ©@ @ 0.595| M1 0. 360 3.05 2
n 4.00] ® 1.389 ® 1. 259 1.35 2
n 4.00] @ 2.124] © 1. 667 0.21 2
n 4.00] @ 2.303] @ 0.500| Hx2 0. 980 0.22 3
n 4.00 1.770 2.019 0.21 2
15|10 6
kg/m t
B B B 3 5.154] 0.439 | 0.002
AN =
=] "
0. 002




’y

*# B #H KB F (Q

T4 ERAIE O R AR KELETH T8 (RT) 1
+ T B B %
4 B M HKE—6 ¢ 25m/m H=0. 60m B & | HAr
Bl [l %
+TO +TO®
BHO. 2m3
JZS Eii VEHE - 85.77 + 1.30 87.07[ m3
BHO. 2m3
T iA VIR 4 85.77 + 1.30 87.07| m3
DT 2t
7% AP VIS 1 27.12 + 0.61 27.73] m3
DT 2t
R L LREERD 27.12  + 0.43 27.55[ m3

MR L Vi 1 58.65 + 0.69 59.34| m3




B # H £ (2)
TE4 ERIALE OFRARE K E LT TH (RT) 1
4 g M B it B = ¥ & | HAT
¢ 25m/m H=0. 60m
(FER+LD) 2 R £ I L= 195.5 m
BHO. 2m3 0.60 X 0.732 X 195.50
AN Eiit VIE T — (m/4 X 0.025 X 0.025 ) X 195.50 85. 77| m3
BHO. 2m3 0.60 X 0.732 X 195.50
B A VIE + — (x/4 X 0.025 X 0.025 ) X 195.50 85. 77| m3
DT 2t PRI iR
¥ - ALH L=13kmLA F 85.77 — 58.65 27.12| m3
DT 2t 2
R L CREERD {0.60 X 0.232 —(m/4X__0.025 } X 195.50 27.12] m3
MR L DY az 0.60 X 0.50 X 195.50 58. 65| m3
o R
4 g M B it B = ¥ & | HAT
¢ 25m/m H=0. 60m
(Cl:S=0)) 2 R £ I = 3.1m
SEEDIT T | t=10cmPL F S TICE L
t=3cm
BREEHUE L @K T-TAaY TS TICE I
BHO. 2m3 0.60 X 0.702 X 3.10
AN Ei VAE + — (m/4 X 0.025 X 0.025 ) X 3.10 1.30] m3
BHO. 2m3 0.60 X 0.702 X 3.10
i iA VHEL — (x/4 X 0.025 X 0.025 ) X 3.10 1.30] m3
DT 2t PRAR EjiRe
¥ AL L=13kmLA F 1.30  — 0.69 0.61] m3
DT 2t 2
R L 20 {0.60 X 0.232 —(m/4X _0.025 ) X 3.10 0.43] m3
MR L iii 0.60 X 0.37 X 3.10 0.69] m3
(RC-40) t=10cm
B T BTV idETICE B




